ojn

@ 8,12 ® 10,20

® 4,10

@ 3,7

D 2,6



© 5Bt 2310 Bk FL A5 F 4 9 ARLQ S
)
BA .

® 00 ® 0,00 ® 6,6,
@® 9,066 ® 9.0,



ol 27 345 o] 2

]85

@ 6 ® 8 @ 9 ® 10

@D 4



22%x3x5, 22x3x%x7

14

@ 10 @ 11 12

@ 8



=

oo
S

T &4 g2 A2

@© 9 9] oF¢= 1,3,9 o]t
@ 18 9] ¢F4=1,2,3,6,9,18 ©|Th.
® 9 2} 18 9] FHof-FoFg=9 o|t.

@ 9 £}+18 O] B FokpE T 49 gk
2t
® 9 9} 18 o] FoF2] Ja= 2 o]t



2X3X3x%x5b5

2XHX5XT

N

350

D5, HagHle

X

3150

10, A4BH4

FLOEAS
T

N

®



& %6 o] visol A BAI 8 9 Wt Bl £

© 29] v @ 49 Hi4 @ 129 Hj5
@ 24°] Hj ® 48°] "5



